
ylw lk. xe.ve.Mfeb lk./ltb xe.ve.Mfeblwk Mxuxm hebtfom ûtuºtV¤ (nu¾xhbtk)
1 5 (Jusjvwwh) Vtglj(VMxo Juhez z[[tVx bkswh) 150.00
2 4 (Jusjvwh) Vtglj 100.00
3 3 (Jusjvwh) Vtglj(&zo Juhez z[[tVx bkswh) 175.25
4 2 (Jusjvwh) Vtglj 79.71
5 1 (Jusjvwwh) Vtglj(VMxo Juhez z[[tVx bkswh) 132.38
6 27 (Jusjvwwh) Vtglj 78.39
7 84/yu (bfhct) Vtglj 78.29
8 6(Jusjvwh) Vtglj (vtxo Ctd) 215.00
9 23 (Jusjvwwh) Vtglj 13.60

10 84/ce (bfhct) Vtglj 51.7053
11 24 (Jusjvwwh) Vtglj 27.00
12 85 (mhFus-ytuftV-bfhct) r«jebelhe bkswh 67.23

13 90 (mhFus-bfhct-ytuftV-V<unJtze) r«jebelhe bkswh
28.4913

14 3 (ctuvj) r«jebelhe bkswh (vtxo Ctd) 299.1694
15 26 (bfhct) r«jebelhe bkswh 37.00
16 25 (Jusjvwwh) z[tVx bkswh 83.00

17 51 (bfhct-Jusjvwh-ctuzfœuJ) z[tVx bkswh (vtxo Ctd)
159.969

18
204 (mhFus-ytuftV-bfhct-Jusjvwh-
ctuzfœuJ)

z[tVx bkswh (vtxo Ctd)
1121.19

19 86 (mhFus-ytuftV-bfhct-V<unJtze) z[tVx bkswh
134.67

20 87 (mhFus-ytuftV-V<unJtze) z[tVx bkswh 115.16

21 88 (mhFus-ytuftV-V<unJtze-mlt&j) z[tVx bkswh
93.4552

22 201 (mhFus-ytuftV-V<unJtze-mlt&j) z[tVx bkswh
219.8797

23 89 (mhFus-ytuftV-V<unJtze) z[tVx bkswh 92.3075

24 83 (Jusjvwh-øgtmvwh-b¾<bvwh) z[tVx bkswh
203.50

25 92/yu (bfhct-mhFus-ytuftV-V<unJtze) z[tVx bkswh
48.00

26 92/ce (mhFus-ytuftV-V<unJtze) z[tVx bkswh
38.13

27 93/yu (b¾<bvwh)) z[tVx bkswh 52.20
28 93/ce (øgtmvwh-NtnJtze) z[tVx bkswh 49.12

œrûtK vrùb Ítul xe.ve.Mfeblle rJd<



ylw lk. xe.ve.Mfeb lk./ltb xe.ve.Mfeblwk Mxuxm hebtfom ûtuºtV¤ (nu¾xhbtk)
œrûtK vrùb Ítul xe.ve.Mfeblle rJd<

29 93/me (øgtmvwh-Jusjvwh) z[tVx bkswh 37.46

30 401/yu (ctfhtuj-ctœhtctœ- fbtuz) z[tVx bkswh
232.53

31 401/ce (ctfhtuj-ctœhtctœ) z[tVx bkswh 147.38
32 402/ce (rJmjvwh-V<unJtze) z[tVx bkswh 2.92
33 2 (Dwbt) z[tVx bkswh (vtxo Ctd) 314.1424
34 3 (Dwbt) z[tVx bkswh (vtxo Ctd) 338.0198
35 2 (ctuvj) z[tVx bkswh (vtxo Ctd) 150.0128
36 444 (mlt&j) z[tVx bkswh

Vtglj xe.ve.Mfeb fwj 11
r«jebelhe xe.ve.Mfeb fwj 4
z[tVx xe.ve.Mfeb fwj 21
fwj 36


